L5 Kuvscly fe Serte 164
e, 40} wy=Xyp-Xz=1 |01
a) Xg +1x0=4xg= =1 | 4
Xg=Xa=-%a=12

X2 -3x3=-3 IZ3 .
L PR &) ->‘5_’2} 2> Xg=L ¥ XqtXs2 2 +b-1 +4=2¢ 41

7’"L”>(3="’/ =>—?—;= Xq-1 wohle Xs”‘ Zx,=t-1
V=§(26+11E-1)¢)] ter]

b) o X¥atXa 4 xg=d jo4

LX= L% + ), = 2 |1CA)

X4 - ¥ ".)(3:?7 4

"><4 ‘f)(,z ':'—3

X1 + Xaq +)c,$:/]

B R i B

4.)(1 = 2
- X1 1% . =-3 1)
Ky ¥ thay =4 2 FHLtxg=1 = Xg= 4
= X1 +3x, =4 =>-4+3=-1  GL. ev fillt
1Lx, =8 ¥ X=4%

13, =2 =xasd  J=5(4111-9)3

e} ' BX, # Xy vk, 20 et o

Kyt Xag Fhey= 5 [*66)

1 x4 + .X,L +5Xxq= 40 1-(-3)

6X)+ Xq +Xx, =30
"'5)(2 ‘35}33 0 2
“2X2 Ty x, = 0 |.(-5)

6 x4 T Xa tXg =30 D> 6y, -FE1t=30 X, =L b-54¢
=5 Xa=38x,2 0 X, = “Pxg Wohle s, =t 2 x = - 74

0 = 0

L=1(5+t)-7¢12)| tERT

0. Fell



